1. In order to maximize profits or minimize losses, a competitive firm will produce at the point where MC = MR. Do you agree or disagree with this statement? Explain your answer and use at least 2 examples in your response.

Notes 

One way you might want to approach this questions is to present what happens to the level of profits when MC>MR and MC<MR, and then show the level of profits where MC=MR. Use some hypothetical, numerical examples! Show what happens to marginal cost and marginal revenue as output increases. [Remember, this question deals with a competitive market.]

Can you please provide me an explanation of the shape of the marginal cost and marginal revenue curves incorporated into your answer.

2. Consider two firms X and Y produce identically tasting cold drinks. In order to increase the demand for its cold drink, firm X increases its advertisement outlay. However the advertising doesn’t increase its demand in the long run. Explain why this must be the case. 

Notes: This set of questions requires an understanding of game theory. I review the YouTube videos on a prisoner’s dilemma, and then tried to apply that information to the answer but was confused. How are the two firms producing soda similar to a classic PD game? Try setting up a game matrix where the two firms have the following choices- keep the same level of advertising or increase the level of advertising.  Which choice will the firm always make, regardless of the actions of the other firm? The outcomes could be market share or profit. It would be wise not to worry about the pricing decisions made by the firms.

Do not spend time discussing the purpose and effectiveness of advertising. This is not the point of this question. Assume that if one firm does advertise, the demand for the soft drink produced by that company will increase [they will steal customers from the other firm]

Oligopoly Market

3. The majority of the world’s diamonds comes from Country A and Country B. Suppose that the marginal cost of mining a diamond is $1,000 per diamond and that the demand schedule for diamonds is as follows:

	Price
	Quantity

	$ 6,000
	5,500

	5,000
	6,500

	4,000
	7,500

	3,000
	8,500

	2,000
	9,500

	1,000
	10,500


1. If there were MANY sellers of diamonds, what would equilibrium price and quantity?  Why?

2. If there were only one seller, what would be the equilibrium price and quantity?  Why?

3. If  Country A and Country B formed a cartel, What would be the equilibrium price and quantity?  Why?  Is this cartel likely to survive?  Why or why not?

